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Algebra Exam
Exercice: 1 (7 points)
Let f the application de�ned by :

f : E −→ R
x 7−→ f(x) = 1√

x2−1

1. Find E so that f is an application.

2. We take : E = ]−∞,−1[ ∪ ]1,+∞[

a) Determine f
({
−
√
2, 5

3
,
√
2
})

and f−1 ({0}) .
b) Is the application f injective ? Is it surjective ? Justify your answer.

3. Show that the restriction g : ]1,+∞[ −→ ]0,+∞[ , g(x) = f(x) is bijective.

4. Determine the inverse application g−1.

Exercice: 2 (6 points)
We de�ne the binary relation R in N∗ by :

∀x, y ∈ N∗, xRy ⇔ ∃n ∈ N such that : yn = x

1. Show that R is a order relation.

2. Is this order total ? Justify your answer.

Exercice: 3 (7 points)
Let G = R2 \ {(0, 0)}, We de�ne on G the internal composition law ∗ by :

∀(x, y), (x′, y′) ∈ G (x, y) ∗ (x′, y′) = (xx′ − yy′, xy′ + x′y)

.

1. Calculate (2, 3) ∗ (1, 0) et (1, 0) ∗ (2, 3).
2. Show that (G, ∗) is an abelian group.

3. Show that the application f de�ned by :

f(x, y) = x+ iy

is an morphism of group (G, ∗) in (C∗,×).
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Exercice 1 (7 points)
Soit f une application dé�nie par :

f : E −→ R
x 7−→ f(x) = 1√

x2−1

1. Trouver E pour que f soit une application.

2. On prend : E = ]−∞,−1[ ∪ ]1,+∞[

a) Déterminer f
({
−
√
2, 5

3
,
√
2
})

et f−1 ({0}) .
b) L'application f est-elle injective ? Est-elle surjective ? justi�er votre réponse.

3. Montrer que la restriction g : ]1,+∞[ −→ ]0,+∞[ , g(x) = f(x) est bijective.

4. Déterminer l'application inverse g−1

Exercice 2 (6 points)
Soit R une relation binaire dé�nie sur N∗ par :

∀x, y ∈ N∗, xRy ⇔ ∃n ∈ N tel que : yn = x

1. Montrer que R est une relation d'ordre.

2. Cet ordre est-il total ? justi�er votre réponse.

Exercice 3 (7 points)
Soit G = R2 \ {(0, 0)}, on dé�nie sur G la loi de composition interne ∗ par :

∀(x, y), (x′, y′) ∈ G (x, y) ∗ (x′, y′) = (xx′ − yy′, xy′ + x′y)

.

1. Calculer (2, 3) ∗ (1, 0) et (1, 0) ∗ (2, 3).
2. Montrer que (G, ∗) est un groupe Abélien.

3. Montrer que l'application f dé�nie par :

f(x, y) = x+ iy

est un morphisme de groupes de (G, ∗) dans (C∗,×).
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